HENIS —

/16

B OROELERCHITEZ KIIHLTERELILLY,

O 54x99 = @ 28+16+84 =
@ 52+53+48 = 25%x12 =
® 25%x84 = @ 25+83+75 =
@  36X25 = @ 103x12 =
® 101x35 = ® 25%X24 =
® 75+26+74 = @  24%98 —
@  48x25 = ® 414+65+59 =
31x97 = 101x82 =




STHENLS

B OROELERCHITEZ KIIHLTERELILLY,

D 54X99 =

5346

54X(100—1) = 100X54— | X54 = 540054

@ 52+53+48 =

153

(52+48)+53 = 100+53

@ 25%x84 =

2100

25X(4x21) = (25X4)X2| = 100X2|

@ 36X%X25 =

900

(4X9)X25 = (4X25)X9 = 100X9

® 101x35 =

3535

(100+1)X35 = 100X35+1Xx35 = 3500+35

® 75+26+74 =

|75

75+(26+74) = 75+100

@  48x25 =

1200

(4X12)X25 = (4X25)X |2 = 100X |2

31x97 =

3007

31X(100—3) = 100X31—-3X31 =3100—-93

@ 28+16+84

/16

128

28+(16+84) = 28+100

25X 12 =

300

25X (4X3) = (25X4)X3 = 100X 3

@ 25+83+75 =

183

(25+75)+83 = 100+83

@ |03%X12 =

1236

(100+3)X 12 = 100X |2+3X 12 = |200+36

® 25%x24 =

600

25X(4X6) = (25X4)X6 = | 00X6

() 24X98 =

2352

24X(100—2) = 100X24—2X24 = 2400—-48

® 41+65+59 =

165

(41+59)+65 = 100+65

101 X82 =

8282

(100+1)Xx82 = 100X82+ | X82 = 8200+82




